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Eliminating: 6, = x

Factors : ¢1 (o), ¥1(x0, 1), p1(x0,11)
Separator : So = {x1,1;}
Joint(xg, So) : p(xo | 1,11) - frew, (So)
T Bwe . f6
ayes

hitherto Bayes net:

p(xo | x1,11)
fnewl

Eliminating: 6; = x5

color-coded
chordal Bayes net chordal Bayes net

Factors : 1/J2(:1:1, T2), P3(x2, T3)
Separator : S = {@x1, z3}
JOint(mz, 51) Ip(wz | Ty, $3) * fnews (Sl)
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hitherto Bayes net:

p(xo | &1, l)p(xs | 1, 23)
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Eliminating: 0, = x4

Factors : 4(x3, x4), ¥5(x4, x5)
Separator : Sy = {x3, x5}
Joint(:c4, SQ) . p(w4 | 3, 185) : fn9W3 (52)
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Bayes FG

fnewz

hitherto Bayes net:

p(xo | 1, l)p(xs | 1, 23)p(24 | T3, T5)

Bayes (Junction) 1ree

Eliminating: 03 = x4

Factors : g(xs, g), p2(x6, l1)
Separator : S3 = {x5,11}
Joint(:cg, 53) : p(CL'(; | Is, ll) . fncvu (53)
T hwe 6
ayes

Analyzing conditional : p(6y|Sy) = p(xo|x1,11)

hitherto Bayes net:

Separator : Sy = {x1,11}
Parent clique : C, = C1 (Sy 2 1 € F)
Action : new clique Cs (Fe, U S, # So)
Clique : C5 = xp : {x1,l1}

p(xo | 1, l)p(x2 | 1, 23)p(24a | T3, T5)p(T6 | 5, 11)

Bayes net {p(xq | x1,11)

Analyzing conditional : p(6;]51) = p(x2|x1, x3)

Separator : S = {x1, 23} C Cy Cs
Parent clique : C, = C; (S1 2 x1 € F1)

Action : new clique Cy (Fe, U Sc, # S1)
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Bayes net : p(zo | z1, l)[p(z2 | z1, 3)

Analyzing conditional : p(05]Ss) = p(x4|xs, x5)
Separator : S = {x3, x5} Co @
Parent clique : C,, = Cy (S2 2 x5 € F})
/ Action : new clique C3 (F, # S2) Cl 02 03
Clique : C5 = x4 : {x3, x5}

Bayes net : p(xg | @1,11)-p(@2 | 21, 23)|p(24 | 3, 25)

Eliminating: 04 = o
»anV\/g

Factors : fuew, (€1,11), foews (1, 23)
Separator : Sy = {x3,1;}
Joint(x1,S4) : p(x1 | ®3,11) * foews (S4)
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Bayes FG

fneW4

hitherto Bayes net:

=p(xo | @1,0) - plas | 1, x3) - p(x4 | T3, T5)-

p(xs | 5,01) - p(1 | 23,11)

Eliminating: 05 = [

Analyzing conditional : p(65|Ss) = p(xs|xs, 1)
Separator : S3 = {x5,1;} Co @

Parent clique : C, = Cy (S5 3 11 € F)
Action : new clique Cy (F, # S3) c @ o, @
1
Clique : CQ = Tg - {(135,l1}

Bayes net : p(zo | @1,l1)p(x2 | T1,23)p(T4 | T3, 25){p(T6 | T5,11)
Analyzing conditional : p(04]S,) = p(x1|®s, 1)
Separator : Sy = {x3,1;} Co @
Parent clique: C, = Cy (S4 211 € F})
Action : new clique Cy (F,. # Sy) c @
Clique : C; = 1 : {x3,1;} !

Bayes net : p(xq | ©1,11)p(x2 | 1, 23) p(xs | 23, 25) (26 | 25,11 )t0(21 | T3,11)

Factors : foew, (€5,11), frews (T3, 11)
Separator : S5 = {x3, x5}
Joint(ll, S5) N p(ll | I3, $5) . fneWG (55)
—_— —
Bayes FG

hitherto Bayes net:

= p(xo \ x1,l1) - p(xa | 1, 23) - p(T4 | 23, 25)-

p(xe | 5, 01) - p(xr | 3, 01) - p(ly | T3, T5)

Eliminating: 05 = x5 . .
—_— Analyzing conditional : p(05|Ss) = p(l1|xs, x5)

Separator : S5 = {x3, x5} o
Parent clique : C, = Cy (S5 3 x5 € F;,) 0
Action : insert to F), (F, == S5)
Clique : Cy = {@3,®4,l1} : 0

Factors : foews (€5, 3), fnews (T5, T3)
Separator : Sg = {x3}
Joint(xs, Se) : p(xs5 | ©3) - faew, (S6)
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hitherto Bayes net: Bayes net : p(zo | z1,01)p(x2 | 1, 23) p(24 | T3,25)p(T6 | @5, 1) p(21 | 23, 11)[p(h | T3, 25)

=p(xo | @1,11) - plas | 21, 23) - p(X4 | T3, 25)-

p(xs | ®5,01) - p(x1 | ®3,11) - p(ly | T3, 25) - Analyzing conditional : p(6g|Ss) = p(x5|x3)

Separator : Sg = {x3}
Parent clique : C, = Cy (S¢ > @3 € F}) Co
Action : insert to F), (F,, == Se)
Clique : Cy = {x3, x4} : 0

Eliminating: 7 = x3 Bayes net : p(xo | ©1,11)p(x2 | ©1,23)-p(x4 | T3, T5)D(T6 | T5,11)p(T1 | T3,11)-p(ly | 3, T5)D(T5 | 3)

: Analyzing conditional : p(67|S7) = p(x3)

X0 X2 X4 Xg X X5 X

X X2 X4 X¢ X1 Iy 3 Separator : S7 = {0} Co
X X X

Factors : fnew, (€3)
Separator : S; = {0}

Joint(z3) : p(x3)
S~ .
Bayes X X X Action : no parent = F,. = x3
hitherto Bayes net: X X X Clique: Co = F, : 0
X X X
=p(xo | 1, 11) - p(x2 | 1, 23) - p(T4 | 23, 25)- R = XX X Bayes net : p(zo | 1,1)p(@s | 1, 23)p(€s | T3, 25)p(@6 | T5,01)p(@1 | 23,01)p(y | T3, 25)-p(s5 | 23} plas)
p(@s | s,11) - p(1 | ®3,01) - p(ly | @3, %5) - p(@s | T3) - p(3) X X
X X
X
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